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2N 1S
MY AN DEMWH £
tel: NSzl (FEANRSAMLSESA) (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OHAZSAGEN G+ EH HEEA(E)
5,600,000& = 14 5,600
JEHE HgH 2el 87,250 85,750 1,500
201 £B-2dH| 75,350 75,350 0
01 At 22l 12,300 12,300 0
OEE MEHLR SEES M
1,500,000& * 2& 3,000
OFSH 28 2 24 Ze44E
1,000& * 300 300
OHSEII2E ARES ¢
100,000& » 12& 1,200
OHSEIX 2E dlE =altl
20,0003 = 304 600
OMe+=g =5 DM & Ix2a Myl
60,0003 = 104 « 128 7,200
02 3323l 63,050 63,050 0
OMNe+=e =5 DXAN 28 EZ
300& = 100,000 30,000
OMeI+e AB8ItELYs 48
100,000& » 12&8 1,200
ODXAMESEI AL 150,000 * 33l 450
OdXN=a dFAEIA 018 =2
13,000,000& * 14 13,000
OMSA%S MRS LBELRAIAL S 24
=3 80& * 5,000 400
ONMI2l ==& ARS HEHRAIAE RS
2,700,000& * 42| 10,800
OAGEE AAZIEXNAAH Olsde SER
= 50,000& = 441 « 12& 2,400
OMe =g HSEIIIANAE SXNE>
1,200,000 * 4&7| 4,800
202 Oddl 5,400 5,400 0
01 = LH o4 1l 5,400 5,400 0
OHLY 4L =F oYl
20,000& = 3H = 903l 5,400
303 Z& =3 5,000 5,000 0
01 Z4& 32 5,000 5,000 0
ODEE ALY F+ENS
5,000,000& = 14 5,000
405 XHoHF S HI 1,500 0 1,500
01 XAt 2 Z F S| 1,500 0 1,500
OUHE MEg&E+ 88 ZA=E2HI 2
1,500,000& * 1CH 1,500
ANE2Z(LEANNSAILSE S A 3,076,700 2,056,700 1,020,000
= 1,160,000




EX: BwEY
HE: NI DS =&
SRl A2 (LEANDNESAMAELEZAH) (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Al 1,916,700
Xk & A 1,231,700 1,471,700 A 240,000
201 et A H| 4,700 9,700 A5,000
01 AFR2 2t 2l Yl 4,700 4,700 0
O=MUIIA JtATY 1,500,000& = 14l 1,500
OXEMAI X2 1,000,000& = 3CH 3,000
ONERARY BAWLRLL S
200,000& * 14 200
202 O B 6,000 6,000 0
01 2L Y| 6,000 6,000 0
OQuUSANE ERF& bl
20,000& + 69 = 503 6,000
206 M = Hl 13,000 13,000 0
01 = bl 13,000 13,000 0
O ME HOE 2 80,000& * 100 8,000
OXNEETMHZ HE 2 50,000& * 100X 5,000
305 HHA 23S 3,000 3,000 0
01 HHA=2S 3,000 3,000 0
OXETM Doy [1E XEIE 242
3,000,000& * 14 3,000
401 AIEHIL 20| 1,205,000 1,405,000 A 200,000
01 A& bl 1,200,000 1,400,000 A 200,000
O&4A] I M 900,000,000& = 14 900,000
Oat2Al XM 300,000,000& = 14 300,000
03 Al& 201 Y] 5,000 5,000 0
OAl& 20| 5,000,000 * 14 5,000
MNESE &X & 22| 424,000 445,000 A 21,000
201 L2 Y| 120,000 108,000 12,000
02 35249t 120,000 108,000 12,000
OXls , 388 &dIl&a 10,000,000& * 12& 120,000
401 Al HI L 2 0HHI 304,000 337,000 A 33,000
01 A& HI 299,000 332,000 A 33,000
Onsdlss &x 50,000,000& = 14 50,000
OL=FMOAHII WA 7,000,000& * 504 4 35,000
O3BNss &K 12,000,000& * 204 4 24,000
OLEDE X & A& X 3,000,000& * 1094 & 30,000
QusStss RANLES 100,000,000 * 14] 100,000
OosgasI &K 2,000,000& * 1094 & 20,000
Odtls As3t B3 At 20,000,000 = 14 20,000
OF&s 4x 2,000,000& * 1090 2 20,000




2AMd: DS
MY AN DEMWH £
©el AlZZe(LEANDSALSESAH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 AlE 2 THHI 5,000 5,000 0
OnsHsS AL 5,000,000 = 14l 5,000
20218 2 E A IZLSHS 2SS ALY 1,421,000 0 1,421,000
= 1,160,000
Al 261,000
401 Al HIZ 2018 1,421,000 0 1,421,000
= 1,160,000
Al 261,000
01 A& HI 1,421,000 0 1,421,000
02021 ZEA =25 2285 ASAY
1,421,000,000& * 14 1,421,000
= 1,160,000
Al 261,000
QIZt=N nESEd A= 8,450,727 4,057,235 4,393,492
AU A2 (LENNSAILELZA) 528,789 558, 166 N29,377
SYHF=ZIX 2l 528,789 558, 166 N29,377
101 14 Hl 51,179 35,596 15,583
04 DI 22 XRHEES 51,179 35,596 15,583
OFXes3 Q2] 51,179
=JlE= 75,360% * 4% * 120& 36,173
oFF 75,3603 * 4% * 14 4,221
cHXt+g 75,3602 * 4H « 4L 1,206
o Al 22l =& 14,1303 = 4% = 60Al2t 3,392
c4HEE 44,992 ,000& * 13.75% 6,187
201 Let24d] 194,710 179,670 15,040
01 AL 22l H| 74,110 65,790 8,320
ONEXNETY FXS& ISy
450,000& = 12 5,400
O8N A8 2235 722
10,000,000& * 14 10,000
OdeRE LRz 60,000& = 2003l 12,000
OBAMIR U AQAX2Y SA
8,000& = 5% = 8 » 12& 3,840
OunszHe =22 M= 10,000,000& = 14 10,000
oogoletd neg I ¢
5,000,000& = 14l 5,000
OFFXcts WEE DXAM L M2 M
12,000,000 * 14| 12,000
O2LZT &AL ns2el 4l
121,250 * 1209 14,550
ORHEXNASAHE2A CCTV P XE
110,000& * 123 1,320
02 2324l 118,600 111,880 6,720




2N

HE: AUZY NEBY 7=
tel: AP e (LENNSASELESAH) (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OSAIZYR T2 SI22d(23)
700,000& = 12& 8,400
OMA 22X & AHlA sX2e2lbl
11,000,000& * 14 11,000
O=30AEN T2 X 22l
350,000& = 12& 4,200
OXgRIL(2E8s, =488 &)
10,000,000& * 14 10,000
OXg RFUI(=EX, AL, dIIHRE)
10,000,000& * 14 10,000
OFFI SIv BER L SBE
2,480& = 2,5008 * 12& 74,400
ORHLXNNSAHE2A MRS
50,000& = 123 600
03 A2 Z Hl 2,000 2,000 0
OHAMXE WSESALA JHel&H P2
100,000& = 20X 2,000
202 O4dl 13,000 19,000 26,000
01 S LHAYI 13,000 19,000 A 6,000
OEAZYS & AtgH2el 20
20,000& = 10¥ = 653l 13,000
301 LEHZ 4,100 4,100 0
09 SALAHIX A S 2,000 2,000 0
OQussSAH20F HALFH X
200,000& = 53 =« 23| 2,000
12 JIEBHE 4= 2,100 2,100 0
OusAtL Hgas A m=sHl X
300,000& = 79H 2,100
305 e =2s 5,000 5,000 0
01 tH& =S 5,000 5,000 0
OXt&gAel sl&E a3 5,000,000& * 14l 5,000
307 glz2tol & 9,000 9,000 0
02 RIZFE MM E X 9,000 9,000 0
OunEetd SAEH 238l XA
11,250,000& = 80% 9,000
401 Al& I 28I 251,800 251,800 0
01 A& HI 250,000 250,000 0
Ofeolck=3toer &X1 30,000,0003 * 400 & 120,000
Ofolct=Jter & d28 dsiid
5,000,000 * 1090 2 50,000
OCCTV =Xt QHHEX®H AX & WX
50,000,000 = 14! 50,000
O=SYF=ZX AL &X
30,000,000& * 14! 30,000
03 Al =2 THHI 1,800 1,800 0




2N

N QA=A DESHH A=
Chel: Y D (LESADEALESSH) EER-ED
- _ . RE!
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | OAl &S 1,800,000& * 14l 1,800
DESZ WA (LESADEMLEHS ) 7,921,938 3,499,069 4,422,869
E=XNE SX2e2 1,215,518 2,164,119 A948,601
101 Q124 | 128,018 126,119 1,899
M4 JI2R22XNEES 128,018 126,119 1,899
OXNAZEIGR(BE, SF) LAAS o0 128,018
o223 75,3609 * 581 230 86,664
o xtay 75,3602 * 5% * 11 4,145
ox=sayg 75,3602 * 5% * 46 17,333
oAt &g
14,1309 * 5% % 8AI2H » 10 5,652
oc4lBE 2z 113,792,0009 * 12.5% 14,224
201 Lt ) 323,000 423,000 A100,000
01 AL 22l 293,000 393,000 A 100,000
OZY=E MaRY Axz
30,000,0002 * 14l 30,000
O2EEE NH2H ATE ¢l
8,000,0002 * 14l 8,000
OAES BHEZIY S HEEBS B
5,000,0002 * 14l 5,000
OFXE BX 22 250,000,000 * 14l 250,000
02 Z229d| 30,000 30,000 0
OR2YZIH ALES SX2L
20,000,0002 * 14l 20,000
O2EFXE 29 2 10,000,0008 * 14! 10,000
305 a2 S 8,000 10,000 A2,000
o1 AaZE 8,000 10,000 A2,000
OZIEF[I(NI2Y) X3 B4
8,000,000% * 14| 8,000
401 AlIEH 2 20| 755,000 1,605,000 A 850,000
01 Al&t] 750,000 1,600,000 A850,000
O2I=IE =4 ¢ SX=24
700,000,000 * 14l 700,000
OFUTHEH &% L SN2
50,000,0002 * 14l 50,000
03 Al =2 0Hl 5,000 5,000 0
OA &S0 5,000,0002 * 14l 5,000
405 XHAFE S 1,500 0 1,500
01 AL ESZH S| 1,500 0 1,500
OZRIEI 2 1,500,0008 * 14l 1,500
AES2TY =N & ALY 6,000,000 0 6,000,000
401 AlEHI 2 201 6,000,000 0 6,000,000




A S
oIt

HE: 0HEY DEBY 25
= =

e nssA HHLEANLESAMBEESH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 6,000,000 0 6,000,000
OdES+2 F=XE EX01Y
6,000,000,000& = 14! 6,000,000
S2UT(HA - EHAl) X & 22 299,000 471,000 A 172,000
201 Bt 6,000 6,000 0
01 AP 2t 2| H| 6,000 6,000 0
OAMUHA S=AIZFE AU ($=4)
6,000,000& = 1A 6,000
401 Al EHI L 204 HI 293,000 465,000 A 172,000
01 Al&H| 290,000 460,000 A 170,000
Osdd F3A2e 20,000,000& * 14 20,000
OsdE FANE 70,000,000& * 14! 70,000
Osdd B4 L SAE A
100,000,000 * 14! 100,000
Osdd &X 100,000,000 * 14! 100,000
03 AlE 21| 3,000 5,000 A 2,000
OAIZ 20| 3,000,000& = 1A 3,000
WEHHAIE X & 2e) 397,420 335,920 61,500
201 et 94,920 27,920 67,000
01 AP 2t 2] H| 14,920 21,920 AT7,000
OQUSUHMAIE 22F P2
5,000,000 = 14 5,000
OusEotd 22 H&E 3,000,000& = 1A 3,000
OQUSESUHEAIL HAX S 4
,000 « 49 x 60 1,920
OMESSEI Mol FHLg
100,000 * 10¥ * 53] 5,000
02 E2=2=24%H| 80,000 6,000 74,000
OANEZAXE =8 X8l 4,000,000 « 204 8,000
OnNsASHONI 2ctolst Sae3
20,000 « 300CH = 12& 72,000
206 M = dl 34,500 45,000 A 10,500
01 X2 H| 34,500 45,000 A 10,500
OANEREE 2 35,000& = 70074 24,500
ORED| EXm R 50,000& = 20074 10,000
305 HHAZ2S 3,000 3,000 0
01 A Z2S 3,000 3,000 0
ONEANAZ20 28t 24X =H|
3,000,000& = 1Al 3,000
401 AlEHIZL 2 0HY| 265,000 260,000 5,000
01 Al&H| 260,000 255,000 5,000
OANEREE &X 20,000,000 = 14! 20,000




2N

HE: UZH NEBY 7=
S NEEA HAHASN(LEALEAILEE S H (2 &HH)
- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
OnEetd=EX & A 100,000,000& * 14 100,000
OUSAUHMAIE A2 100,000,000& = 14 100,000
ool Hy|(LetEd) 20,000,0008 = 14 20,000
Oogd&2s &1 20,000,000& * 14! 20,000
03 Al 201 Y| 5,000 5,000 0
OnNEHE Al&L20HYI 5,000,000 = 14 5,000
ol g1 4] 10,000 228,030 A 218,030
801 oyl bl 10,000 228,030 A 218,030
01 LBtal gl bl 10,000 228,030 A 218,030
Ogetoldl gl 10,000,000 = {14! 10,000
HESAAH (BWEW) 343,263 336,762 6,501
CIARSRAH| (L EANDLEANTELHZA) 343,263 336,762 6,501
ol =AY 343,263 336,762 6,501
101 2121 H| 343,263 336,762 6,501
03 RIAHL*ZZXHE S 343,263 336,762 6,501
OZ2222=2 X} o124y 343,263
ocllza 161,476
HEE X 2,284,870 * 2% « 128 54,837
A0l 2,221,630& * 4% x 12& 106,639
odIZLE 14,897
CHAEEX 1,142,440 = 2% * 23| 4,570
SNl Rt 1,290,810& * 4% « 23| 10,327
o HZAEFIHY| 17,876
HEE X
2,284,870& * 60% * 23| = 2H 5,484
mefolg
2,581,630& * 60% * 23| = 4H 12,392
ocHIRaIEIIxE 15,892
HEE X 110,230 * 20Y = 2H 4,410
A0l 143,520 * 4% = 20 11,482
o AN2AAIZIELE 18,464
SHME X 20,670& « 2 x 30Al2+ 1,241
Aol
17,9403 * 4 = 20Al2t ~ 128 17,223
o M MFAYH| 9,360
- EX 130,0008 = 2% * 12& 3,120
S Nl p-—) 130,000& * 4% « 128 6,240
oM EctE| (&Y ole)
2,581,630 * 34% » 103 * 49 35,111
ocnEE x| 10,080
SHME X 140,000& * 2% = 128 3,360
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